SOLUTIONS

Multiple choices:

1) c.

2) b. (Myland doesn’t give up any pound of fish in moving from point C to point B in the picture.)

3) d. (Only at points ON the PPF Myland is using all of its available resources.) 

4) b.

5) c.

6) d. (You have the absolute advantage in both making photocopies and looking for books. You have the absolute advantage in making photocopies and your friend in looking for books.)

7) b.

8) b.  (It takes you 30 minutes to make the photocopies and then 30 minutes to look for the books. In total, it takes you 1 hour. It takes your friend 1 hour to make the photocopies and then 36 minutes to look for the books. In total, it takes your friend 1 hour and 36 minutes. So, you are going to have to wait for your friend for 36 minutes...... If you specialize in the task in which you have the comparative advantage, you can make all the photocopies in 1 hour and your friend can look for all the books in 1 hour and 12 minutes. In this case, you have to wait 12 minutes instead of 36.)

Problems:

1) 

a. Jenna

b. Amy

c. Amy needs 2 hours to finish the dishes. In the same 2 hours, she could have cleaned 2/3 of the house. Jenna needs 1 hour and 20 minutes to finish the dishes. In the same amount of time, she could have cleaned 1/3 of the house.

d. Amy needs 3 hours to clean the whole house. In the same amount of time, she could have done 1.5 times the dishes. Jenna needs 4 hours to clean the whole house. In the same amount of time she could have done 3 times the dishes.

e. This follows from the answers to c. and d.; Jenna has the comparative advantage in doing the dishes while Amy has the comparative advantage in cleaning the house.

2)

a. The price (i.e. the opportunity cost) of 1 onion for Jim is 2 tomatoes.

b. The price (i.e. the opportunity cost) of 1 onion for Tony is 4 tomatoes.

c. Jim has the comparative advantage in the production of onions. The opportunity cost of 1 tomato is ½ onions for Jim and ¼ onions for Tony. It follows that Tony has the comparative advantage in the production of tomatoes.

d. Jim will sell onions to Tony and Tony will sell tomatoes to Jim.

e. Tony produces onions at a price of 4 tomatoes each. Therefore, he is willing to buy onions from Jim at any price lower than 4 tomatoes. On the other hand, Jim produces onions at a price of 2 tomatoes each. Then, he is willing to sell onions to Tony at any price higher than 2 tomatoes. It follows that the exchange of onions will take place at some price between 2 and 4 tomatoes per onion. 

Jim produces tomatoes at a price of ½ onion each. Therefore, he is willing to buy tomatoes from Tony at any price lower than ½ onion. On the other hand, Tony produces tomatoes at a price of ¼ onion each. Then, he is willing to sell onions to Jim at any price higher than ¼ onion. It follows that the exchange of tomatoes will take place at some price between 1/4 and 1/2 onion per tomato. 

